BFEP - 2ats

IRE < LRI B IR




544

581——
618 541——604
557——-518

580

581



557

—589
587
557 587
588 569
—=618 51.8
553 604
589 538——592

544——607



400

304——439






590

——606



604






583

40



584

330

12 16
51
2700

53

281——356

14



1/53

200



586

534——621

590

10



bi)
10

10

10

526 612

585



590

593

25



600

5 10
1255
275565 0.8
13.36879
27.321675
1.3
5
346.619338 24
892 15
1102——-1110

1106 7



6095

1 26644 76.3
83.5
1
0.47
9.4" ,
10.5' 27.1'
7.0'
1
Chan

129——-210



206

221—-223 5
0.6

11



20

60

91
88
93

300



25.2" ;

3.4 683 27
728



t 1t
T=T,+— +—
T 10 t
7356366 K To
| 2
TO TO 13 ” 1
T T.

16
t=—x 10 14.54
11

17
t=—x 10=1545
11

14.76 15.68 Ty

1 2)'?(

2)



TO

1 2
TO TO

1 2 ‘ "

T T
t 1 T,

2 T0

TO 1] ” 1

= AT 4T



78——139



0.13°

0.24°



9
-[3K +2 10+S +2K ]}
9%
P K
12 K



0 6

K =0 s
42055
0 14 —1439@—96X 15
-P 3K +2K 23 20
= I5+——————+—+—
g 15 9% 9% ' 9
15
K K
S g

f =15 K K S



15=

_96x 15- P>< 20

15+

96x 15 9
_140- P
T 1440

_1440- P+20

96

P+20

on =29
1242
20

1242

K =6 S=14

1440=1440-1440-

=1460-P
P=1460-1440
=20

1336879 = 0215°

P=0°
15

g =15 K =12



96x 15- P 3x 12 +2x 6 2x 14 20

T T A % 9%
1440- P 36+12 28 20
= x 15+ ——+ =4

1440 9% 96 96

_1440- P+36+12+28+20

- 96

_1536- P

T

P = 1536- 1440

%

P=96 T 1242( )

= Tonn x 1336879 =1.02

g =0 K =12
=6 S=14



96x 15- P 3x 12 +2x%x 16 2>< 14 20
=——x 15+

96x 15 96 96 96
=1536- P

1536

P =1536 :E

_ 1536

1242 x 1336879 =16.5

96x 15- P 20
=———x 15+
96x 15 9%
_ 1440- P+20
B 96
=1440- P+ 20
1460

P =1460 :E

1460

=T x 1336879 =157

40 _50






= +H
- =2H

_(300- d)x 1242 4

= 300x 1035 127 )
d
d

d =15  d=0
2H=2x 12 =24

25



16



A-B

(to)



C+ t,

T p ”
BE | AARIRE | imHAi=E | FH9I=EFRE | +50.8° [-18.8° | 1.
KB -9.2° top 2" 31"

T2 | w2 +22.2 " 2.4"
=1
A-Bx t,x T E
R
Ro
Ct tx T
Ts . ”
RotCx
txT £ T.
F 14 16
16.5 11 28 17

R=R,#C tyx T #* Tt Fy

| A-E
A v
t=R+V,



_ 16069
46644



110

16069 N (m- 1)6lx 46644
46644 2

15409
25 46644

61x







603

604

536



75

54

44

536

13

53



44

583

583

605

33

75



10
1250 ¢

139.1



3535



602——604 605—
—617



608

610

3.4

1.09°



6.1

398.882 0.002
779.926 0.011
378.090 0.002
583.922 0.001
115.879 0.001

2




365.24303
65

27.32166
0.1

602
—=670 665



30

683——
127



200



IO

90

16

131.11
20.17

814

1742——1815



1774

1796
120

15
15



1808 2

74

1521
—1595 1637——
1688









	中外科学家发明家丛书——刘 焯
	一、刘焯生活的时代
	二、两次历争的失败
	三、皇极历（一）
	四、皇极历（二）
	五、皇极历（三）
	六、历法之辩
	七、刘焯的去世
	八、刘焯的启示


